Name _________________________ 


 Due _____________
Gear Homework
Answers must be from handouts and labs you did in class not dictionary definitions and explanations.

What is the best combination of gears to go fast?

________________________________________________________________
Why is it the best for going fast?
________________________________________________________________________________________________________________________________
With the gears set to go the fastest how many times does the rear wheel rotate when you rotate the pedals one time?
________________________________________________________________________________________________________________________________
Why don’t you use this combination all of the time?
________________________________________________________________________________________________________________________________
What sprocket combination would you use to go up a steep hill?

________________________________________________________________
Why don’t you use this combination all of the time?
________________________________________________________________________________________________________________________________
Which pedal combination is the easiest to pedal?
________________________________________________________________
Which pedal combination is the hardest to pedal?

________________________________________________________________
Thinking about the lab you had to design a 1:3, 1:1, or 3:1 ratio. The first number is the driver gear. 

Which will be the fastest? __________________

Which will move the slowest? _______________

Which will have the most pushing force? _______

Think about the 9:1 compound gear train you built.
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What happens to b and c when axle a turns clockwise?
______________________________________________________________

How many times must axle A turn to turn axle B one time? ______________
How many times must axle B turn to turn axle C one time? ______________
If A turns 3 times to turn B 1 time, and B turns 3 times to turn C one time. How

many times must axle A turn to turn C 1 time. A = ______ : C = 1
If D was the driver gear and A was the driven gear what would the ratio be? __________ 
What 15:1 mean as a gear ratio?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Does this 15:1 gear ratio make it fast or slow output? _______________

Would it be a strong gear ratio? _______________

Could it lift a lot of weight compared to a 1:15 gear ratio? ____________

Torque is defined as ________________________________________________________________________________________________________________________________

Torque is measured as:

________________________________________________________________

Discuss the relationship between force and gear ratio. (talk about size of gears and relationship to gear ratio)

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

What relationships have you observed between the force and the size of individual gears?

________________________________________________________________________________________________________________________________

What relationships have you observed between force and gear ratio?

________________________________________________________________________________________________________________________________

Lever Arms

In the case of a gear, the lever arm is a(n): ________________________________________________________________________________________________________________________________

What does the lever arm have to do with transmitting forces?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

The length of the arm affects: _______________________________________________________________

Write a short definition about: (These come from your handouts)
Gear ratio: ________________________________________________________________________________________________________________________________

Torque: _________________________________________________________

The relationship between gear ratio and Torque: ________________________________________________________________________________________________________________________________
The relationship between gear ratio and speed: ________________________________________________________________________________________________________________________________
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